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#$%&'()*)+,-.)&'/0-1234

567896:96;<=><56789769?7

@)AB0+A-BA'*C-+,D-E-+/AFA-G,&-)/HI-D'0,+

JK>LMNM>OPQ

R*0S-+I)-AH,&)A-G&,T-+I)-U)A+-E-+/AFA-,G-)/HI-D'0,+-'A-BA)V-G,&-+,+/0-AH,&)W

%/AF X/+) X'A+/*H) X/S-YB/0'+S

Z7<Z7[\PQ=KPO>[]̂ KMPQ 567896:96_<7?̀66<< <_abc<de 766f gPĥ<=><i>PQ<jM=k<7<N=PK=lP=̂mNn

Z5<Z5[î e>OP[]̂ KMPQ 567896:957<7?̀:c<< <c;b7<de 766f gPĥ<=><i>PQ<jM=k<7<N=PK=lP=̂mNn

Z?<Z?[oLMPO>[]̂ KMPQ 567896c96;<75̀66<< <c6b_<de 766f gPĥ<=><i>PQ<jM=k<7<N=PK=lP=̂mNn

Z:<Zc[p>KN>[]̂ KMPQ 567896;976<7c̀:c<< <ccb7<de 8af gPĥ<=><i>PQ<jM=k<7<N=PK=lP=̂mNn

<

q rV s/T) s/+ t0'V)& .D,*A,& %-3 %-1 %-E %-u %,+/0

7 7;8_7 ]MlO>K̂QQM<\QPvwM> x yZo 7666 7666 7666 888 E222

5 ?68:7 p̂ KOPKw<ẑPO x yZo 8a8 acc c:_ 5:a 1u22

? 5a8;: {PvNP<xPvK> x yZo |}>Ô<~̂ Q=P5 x>O=̂ l̂KP��P<ZPOŵe<ẐPe a6_ a:: :?_ 5c7 1144

: 58:;7 g>NNPÔ N̂<iM>wM x yZo 8ac a5: 6 6 343�

c aa87: xPlK><~POM̂Q̂ x yZo |}>O 6 _5a 8a? 7a; 3434

; aa87c oQ̂NNM><�>PwMN x yZo |�|�� 6 ac: :6c 5cc 3�3u

_ 7a5_7 pKvlO>Q><pKvO> x yZo a?5 6 6 ?5a 31�3

8 766766 �>OŵK><~PKM> x yZo |}>Ô<x; xvQ=M<]̂ KLMĥ 6 6 8a7 _: ���

a aa87a \>Q�<�MO> x yZo |}>Ô<�O}><5 �PQQ<jM=k<]=�Q̂ 6 aca 6 6 ���

76 76666c p̂ K=P<�>KMN x yZo x̂ K�<�� 6 6 6 8;7 4�3

77 ?6?67 gPlPlQMP<oQ�M> x yZo 6 8:6 6 6 4u2

75 76c7a �Pe�K>lO><�>K̂O}> x yZo _:a 6 6 6 �u�

7? ?67;a p>OwM<oQ̂NNPOwK> x yZo 6 ?87 6 7a_ ��4

7: ?6;:c JP>QP}}M<~POM̂Q̂ x yZo :ca 6 6 6 u��

7c 7a7c �>O=PÔNM<iM>LPOOM x yZo :7c 6 6 6 u3�

7; aa86? �KM}}̂KP<iP�KM̂Q̂ x yZo :65 6 6 6 u21

7_ 76666; \KMN=>�>K̂==M<xMKh> x yZo |}>Ô<�̂ O> \KM�Kv= 6 6 6 ?5? E1E

78 7;c67 \>��>QP<\PKeMÔ x yZo 5a5 6 6 6 1�1

7a 766668 xM>KM<y=PQ> x yZo |}>Ô<�x; 6 6 6 5?6 1E2

56 aa85_ �̂ KQP=><oOwK̂P x yZo �MLMvd<oK=Mh<c 6 6 ;: 6 �u

57 785a5 �̂ ==>K<xPKh> x yZo 6 6 6 6 2

57 5_?c6 ]>L̂KMOM<~̂ OMN x yZo 6 6 6 6 2

57 578_a xPK=MOP<z>kO x yZo 6 6 6 6 2

57 57;_? \vlOPh<�KPOh> x yZo 6 6 6 6 2

57 aa857 �̂ OM<p̂ KOPKw> x yZo >}>Ô<PQ�MOP<5 \Qv�<�>QP<pPNN9p̂ =PQMOd 6 6 6 6 2
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